Assessment Test 1

Section A
Pages 47-50

1. 25.5cm

There are 105pacesbetween24cmand26cm.
So each space is worth 2 + 10=0.2 cm. The arrow
Is pointing halfway between 25.4and 25.6.

| Half of the gap between 254 and 2565

0.2 + 2 = 0.1 m, s0 the number the arrow 15
pointing tois 254 +0.1 =255cm

2. €

Angle y is bigger thana right angle (90°), s0it cant
be 60° (B) or 90° (D). It is smaller than a straight
line (180°), so it can't be 180°(A). 175°(E)is
almost a straight line and angley i smaller thana
5tmighf.ﬁnebymomchan5’. So that leaves Cas

the only possible answer.
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3. A

You need to use BODMAS to work out the initial
answer and each option.
6x2+12=12+12=24

A Bx3=24,48-24 =24 — 50 A5 the answer.
B 11%x2=22.3+22=25

C3x7=21

D24-221212-1=11
E4x4=16.2+16=18

4. £7.08

£54+£2=£7

9p+2p+ip=8p

£7+8p=£708

5. D

Scalene triangles have three different sides and
three different angles. Rhombuses, kites. regular
pentagons and isosceles triangles have at least two
equal sides and at least two equal angles.

6. £8.91

Round each 99p up to £1 by adding p. then
muitiplyby 9 £1x9=£9.

You added 9 x 1p to the total cost. so subtract
theextra9p: £9-9p=£891

7. B

in 45,952, 9isin the tenths column.

Look at the number in the next column to the right
(the hundredths). It is 5, so round the 9 tenths
up to 10 tenths. 10 tenths is one unit, so the
rounded number is 46.0

8. 16:50

When using the 24 hour clock, the hours in the
aftemoon, e after 12 noon, increase from 13 to
23. Ten to five in the afternoon is equivalent to
fifty minutes past four. Four oclock is 4 hours after
12noonsois 4 + 12 = 16.00. To make this fifty
minutes past four, 16:00+ 0:50 = 1650

9. A

The cake s cut into 20 slices and 16 are given away.
This leaves 20 - 16 = 4 slices.

As 2 fraction of the overall cake, thisis Y20,

The highest common factor of both the numerator
and the derominatoris 4 4+ 4=1,20+4=5
The amount of cake left overis 5.

10. 1900

The tens column is the second column from the
right. This is 9, which rounds up to 10.

This increases the vaiue of the hundreds column by
one making the answer 1900.

1. B

The customer is charged £50 for the job, plus the
number of hours (h) multipled by £25.

Sothe cost = 50+ 25 x h.or 50+ 25h.

12.'S

Work through your 5 times table until you come t0
first number greater than 24.

5 x 5= 25, 50 5 tents would be enough.

13. 1404

There are 3 lots of 2808 (meltiplication is repeated
addition), which is equal to 6 lots of something

6 s dovble 3, 50 haive 2808 to find the missing
number: Half of 2808 1s 1404.
502808 + 2808 + 2808 = 1404x6

14. C

On the graph, you can see that the February sales
are lowest. The only game for which this is true S
Croc Chase.

. 9
::dewﬁaﬁd“ﬁ The yefow
mdﬂupdmb”«amdw
circle. %40f 261536+ 4=9.
9 chitdren wore yeliow hats
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16. £1.07
One way of darg £10 - £8 23 s tocount up from
893 o 10 onaguck sketch of a number firiex

aba 9 10
CO7+1=£107
17. 61

You can't calculate the blue team total straiaht
anay One methad i 1o caicutate the number of
pontawon by the Yaar 5 bue team first

(G0 -27-32=31) Thentuse this to find the blue
team total (31 30 = 61)

Team Year5 | Year6 | Total
Red 27 50 77

Yeliow 32 25 57
Biue 31 3C 61
Total 20 105

Alternatnely, find The grand total by adding the
numbers on the bottom row (90 + 105 = 195).
Then use this to find the blue team total:
(195-77-57=61)

18. 6p

10% of #0p is 40 =10 = 4p. So the cost of each
packetis 40 -4 = 36p.

There ane 6 bears in éach packet, so the cost of
cachbearis 36 + 6= 6p

19. D

The spinnercan be split into 10 equal sections

2 of the 10 sections are white and 6 of the 10
sections are spotty So forevery 2 white sections
there are 6 spotty sections. This can be simplified
50 for every one white segment. there are three
spotty segments.

20. D

The right angled triangle has 1 right angle, the
square has 4 nght angles. None of the other
shapes have ary.

21. D

Prime numbers are only divisible by
themselves and 1.

47=1x47

55=1%x85and5x 11
42=1x42.2x21,3x14and6x7
47=1x41

58=1x58and2x29
63=1x633x21and7x9
62=1x62ad2x31

73=1x73

22. D
Lookz;thetopﬁghtconu‘afﬂmrscl:angl&arﬂ
follow the instructions to see where it moves to.
y

7 20
6 —— 3units mht

5 -4 i 2 units down
4 i : k

3

2 R

1

0 1234567 8"r
The top right corer would riow be 2t point &.4)
This coordinate is only In option D, so that’s the
answer.

23. 6

Add up the shoe sizes: 6+6+7+5+7+6+5=
42, There are 7 numbers so divide by 7 to find the
mean:42 -7 =6.

24. 28 cm
melwgﬁiofexhsueofzhehexagmstan
The outer edge of the shape is made up of 14 of
these sides. So the totallength=2x 14 =28 cm

MBQDET

25. 36.68

Ty tinhas 122 g0fa rbohydrate

34 i 3 times as much as Ya.

w 122gx3=3004 of carbohydrate

26. 10:05

The first train after 9am from Chapel Street is at
815 Reading down the same column of the table,

it arives in Lanston at 1005.

27. C

A B, D and E can be spiit into two of the trapezium-
shaped tiles shown. Ceant — the tiles overlap.

. .

\,,ﬁ

- . . - -

28. A

The only days on which there i 2 meat picanda
non-apple dessert are Monday and Friday.

This is two days out of five, so the fraction i %

29. -8°C
The temperature drops from 1 ‘C to -2 °C whichis a

drop of 3 °C. from Tuesday to Wednesday.
Twice thisis 3Cx2=6C.

6 °Clower than-2 Cis -8 °C.

30. D

Imagine folding the net up tomake a cuboid.
Corner D will touch X.

AL
B E

Px

Section B
Pages 50-52

1. 0.9kg
First: calculate the mass of the 7 peaches:
7x200g=14004. 1kg=10004,50 14004

=14k
The mass of the basket; 2.3 - 1.4=09%g

2. 2.15kg

In question 1. the basket was found to weigh 09 kg.
3 peaches are exchanged for apples.

The basket will still contain 7 - 3 = 4 peaches.
Each peach weighs 2004. The weight of peaches
in the basket is 200 x 4 = 800g. This is equal to
800+ 1000 =084k

One apple weighs 34 of the weight of one peach.
(200« 4) x 3= 150¢. The weight of 3 apples is
150 x 3=4504. This is equal to 0.45 kg,

The weight of the basket and its contents is
09+08+045=2.15%3

3. 045m

The furthest Andy jumped was 5.25m.
His shortest jurtip was 4.80 m.

The differenice 16 5.25 - 480 =045m

4. 475m
The only distance that Roger jumped more than
once was 4.75m.

5. 500m

The mean Is found by adding all the values and
dividing the sum by the number of pieces of data.
5,25+ 500+ 4.90 +4.95 + 480+ 5.10
=30.00

50 the meanis 30.00~6=500m.

6. 0.05m

Roager's longest jump was 5.30 m,
Andy's longest jump was 5.25 m,

The difference is 8.30 - 5.25=0.05m.

14

=

7. 32
To find the answer You need to work ¢, 0/?1’@
131, You're told that a number y ., ; 'Cftw‘.
make 131 — so the number was 13 7Md€db’y A
Y()t‘;'ra told that 6 was added to 4 num;cz - 262
262, 50 5ubtract 6 from 262, 26 - g oK
You'tre told that a number was nru}zi;l,w o
make 256, so divide 256 by 8, %6t
256-8=32

8. 50 minutes
Divide 1 litre by 20 mil to see ho
will take. ey mittes
1 litre = 1000 ml. So work out 1000 - 20
You can make this easier to work out b}d; w'a‘
both rumbers by 10,50 that's 100+ 2 - gy’

o mins

9. 10%
The amount of discount. received off :

: the origi
price of £27.50was £27.50 - £24.75 :fé?;
2.75=27.50 = 10, 50 the discount is gm,z
original price. This is the same as 10%, ?

10. 2:1

There are B circles and 4 squares.

Thig is a ratio of 8: 4.

This can be simplified by dividing both sides by4.

11. 1:1
There are 2 grey squares and 2 white squares.
Thisis aratioof2:2,0r 1: 7 inits simplest form

12. C

There are 3 white circles and 12 shapes in total.
This gives a fraction of % 5.

This can be simplified by dividing the numerator and
denominator by 3 togive V4

13. 500 g
The ingredients given make 12 cakes.
40 cakes = 3 lots of 12 cakes + 4 cakes.
4 cakes = Y5 of 12 cakes. She will need to multiply
the armount of butter given by 3 Vs,
You can partition 3Vs into 3 + Y.
lax 150g=150+3=50g
150gx 3=4509g
5o the total amount of butter iz
4509 +504=500g

14. 70

We are told 240 g of flour makes 12 cupcakes.
Each cupcake requires 2409 ~ 12 = 20 g of flour.
1.4 kgis equivalent to 1.4 x 1000 = 1400 g of
flour. The number of cupcakes that can be made
with 1400 g of flouris 1400+ 20=140+2

= 70 cupcakes.

15. 26

Read the number of children who chose plum and the
number who chose pear off the horizontal axis.
The nuniber who chose plum is halfway between 28
and 32 so0 30 children chose plum.

The number who chose pear = 4. Subtract to find
how many more children chose plum than pear:
30-4=26.

16. A
4 children chose pear and 24 children chose apple.

50 24 + 4 = 28 children chose ither pear or apple.
For a fruit to be half as popular, it would have to be
chosen 28+ 2 = 14 times.

Orange was chosen 14 times.

Feach was chosen 28 times.

Plum was chogen 30 times.

Banana was chosen 18 times.

Therefore the answer 16 orange.

17. £17.40

Bella gets 6 boxes of 20 cards for 4 x £3.90.
Bartition £3.90 into £3 + 90p
4x£3=£12,4x90p=£360

£12 +£3.60=£15.60.

She also gets a box of 12 envelopes for £1.80
Totalcost = £15.60 +£180=£1 7.40

5
%

%
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3

0 , d — thex-axis coordinate always goes
Z‘;‘%n writing coordinates.

19. (1

Herg 1o the
y

g)uteﬁhﬂ follows from the point (4, 2):
4
3
2

1ir1.0 x

0( )2 4 5 6

20. £15 otk

smanda ¢ 60% of her pocket money, she
’ m%leﬁ-msﬁa
90702”0“””6%*4:5750

¢ 1008 wouldbe 10X £1.50=£15

21, 11:05 )
W,,gga;GOkm/h,shemllwver

2x60=120kmin 2 hours.
ohe thenigoes  further 15km (135 - 120),
15kmis 4 0f 60 km, 50 she will travel 15 km in Ya
of an hour: She travels for 2V4 hours in total. If she
starts at 850 am, 2 hours later will be 10:50 am
;nd15nﬁnuteéafrerzhis will be 71:05 am.

22. E
mmeanafasetaffournumbersisthetotaiofthe

qumbers divided by 4. So if the mean is 4, the total
ofthenumbersis 4 x 4= 16.

The two sides you can see add up to 11 (3 +8).

S0 the two hidden sides must add up to

16 - 11="5. The only pair of numbers in the answer
choices that add up to 5is 1 and 4.

23. 8.1 litres
Convert 900 mi into litres by dividing by 1000.
800+ 1000 =09 litres
Addupthethree volumes: 4.4

09

+28

a1

2
24. 85%
To convert from fractions into percent, multiply the
numerator and denominator by the same number
until the denominator equals 100. The numerator
isriow equal to the percentage. 100+ 20 =5.
Theretore you need to multiply the numerator by 5
toget the percentage. 17 x 5= 85%.
25. 67°
Petn = 46°into the formula.
m=(180~46)+ 2
m= 134 - 2 = 67‘
26. 72 m2
Tocalculate the area of one triangle:
6x4)+2=12m?
The playground is made up of six triangles so the
Wralareals 12 x 6 = 72 m?
27. 1

Therzis 1 Iine of symmetry shown above with the
dashed ling,

MBQDE1

28. 19m3
Yolurme = width x heigh

ight x length
The volumes of the cube and the cuboid can be
calculated separately.
Cuboid: 55x 1x2= 11 m3
Cube: 2x2x2=8m?
The total volume Is the sym of

the voll

cube and cubold. 11+ 8= 19m> SO
29. 375g
First find out how many 2ps make up£71.
£7 = 100p, so there are 100+ 2=50coinsin
each pile. Each pile should weigh 50x 7.5 =375 4,
30. 75kg

From question 29 you know that £1 of 2p's weighs

B3759=0375kg. Multip]
; ly this by 200 to
weight of £200 of 2p's. “ geeste

0.375x200=0.375x 100x 2
=375kgx2=75kg

Assessment Test 2

Section A
Pages 53-56

1. D

There are 8 segments and 3 are shaded,
This is the fraction 2,

2. 34 minutes
The slowest time was 156 minutes and the fastest
was 122 minutes, 156 - 122 = 34

3. B

You need to find the piece that is the right size and
shape to fit in the gap. Shape B s the only shape
that fits in the gap.

4. A
A small can of beans weighs around 250 g. All of
the other weights are either too small or too large.

5. B

2172i5 21 x 21. You can estimate the answer

by rounding the numbers to the nearest 10 and
working out 20 x 20.

20 x 20 =400. The only realistic option is B: 441.

6. B

For B, the dial is split into 8 parts and 1 kg is at the
4th point, halfway round the scale. This means each
point on the scale represents Tkg+4=2504.

As the arrow is pointing at the 3rd point, it I
pointingatﬁ x250g=7504.

7. 9m

To find the length of 20 scarves you need to multiply
45 cmby 20: 45 x 20 =900 ¢m.

There are 100 cmin 1m,50900cm=39m

8. 145.75cm

The difference between 145.6 and 1 459is
145.9-1456=023.

0.3 + 2 = 0.15 s0 the halfway point between the
two numbers will be 1456 +0.15=145.75

9. 6
Dogs have 2 Y, symbols and fish have 1 symbol 50

the difference between them s 1% symbols.
Each symbol in the pictogram 15 equal to 4 people.
S0 half of 2 symbol is 4 + 2 = 2 people.

11 symbols ls equal to 4 people +2 people

=6 people

10. B

ith.
Eloahas 7+8+3= 18 sweets to start witl
She eats 2 chocolates so there aré 165wcetslgfc
(18-2= 16). ﬂwmamsﬂﬂataﬁeesleft,so 716

of the sweets left in the bag are toffees g’vfd& ;F/he
numerator and denominator by Btofind 716= 2.

15

“,

1. E 2,
They-axis is the vertical axis 5o the coordinates ot /b‘?/ B3
the refiected point A are (2, 2) (see the diagram). é‘?

y C,
o~ mirror /o(,
% line ;
A
3 ok
[>A "V
1 \‘4
S 432907 ; T2

12. £45

If you add up the portions that Elpise, Lucinda and
Jennifer get all together, 5+ 3 + 2 = 10.
Calculate the amount in one share:
£150+10=£15

Eloise, Lucinda and Jennifer share the moneyina
5:3:2ratio. Lucinda receives a share of 3, and
therefore gets 15 x 3 = £45

13. E

The number 26 is an even number, but it isn't
multiple of 3 or a multiple of 7, so it can't be placed
Inthe sorting table.

14. C
When you reflect the clear pentagon in a horizontal

line it looks like this: O

The only option where the clear pentagon looks like
this is option C.

15. 72 minutes

Work out the length of time that the journey takes
oneach bus. On Bus A the journey takes

944 to 10: 44 = 60 minutes

plus 1044 to 10:56 = 12 minutes.

60 + 12 = 72 minutes.

On Bus B the journey takes

11:39to 12:39 = 60 minutes

plus 12:39 to 12:48 = 9 minutes.

60 + 9 =69 minutes.

The journey on Bus A is longer; so the longest time
is 72 minutes.

16. A

When you multiply two odd numbers together you
always make an odd number. S0 113 x 115 will
give an odd number as the answer.

17. A

Silver; purple and blue were each chosen orce, gold
and green were each chosen twice but red was
chosen three times, so red is the most popular.

18. 9

Ester won 32 prizes altogether so subtract the
rumber she won on the other days from 32 to find
the number she won on Thursday:
32-5-8-4-6=9

19. D

Look at each statement and decide if it’s true:

A 5/4 = 75/100, %0 %ooisn'tgreater than 5/4
B: 7/100 =0.07,s0 7/100 isn't greater than 0.65.
(7] 7/100= 0.07,s0 %ooisn'tgneater than 0.09.
0: % = 0.75, 50065 is less than %%

E: 0.65 is greater than 0.09.

20. B
The cactus plants come in boxes of 12 and Lemone

needs 60 plants so she needs 60+ 1 2= 5.boxes
The cost of 5 boxes is shown in the expression a5
BC. Ghe rieeds to add this to the cost of the stal,

S, s0 the complete expression i §+5C.

21, 2 .
The total angle around the point at the centre O

the spinner s 360" and there are 8 sections.

60 the size of each section (& 360°-8=45" .
360" - 45°= 315" so the arrow 15 peing turned in
an anti-clockwise direction through 7 segments

(8- 1=7)which will leave it pointing 2t mumber 2.

© CGP 2013
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22. D

25 x4 =100, 501t takes 4 days to run 100 miles.
The number of days to run 500 miles will be
4x8=32days

This leaves 74 miles left over. 25x 3= 75 soitl
take 3 days to complete the last 74 miles.

32 days + 3 days = 35 days

23. 6 cm?

You can work out the area of a rectangle by finding
length x width,

So. the area of the flagis 6 x 4 = 24 ¢n?.

The flag is split into 4 equal rectangles, 5o the area
of the shaded rectangle is 24 - 4 = 6 e’

24. D

4615 23 doubled, 50 46 x 14 is 23 x 14 doubled.
5046 x 14=322 x 2 = 644

14Qis 10 times larger than 14,

5046 x 140 = 644 x 10 = 6440 sweets

25. 24

%ofthcsocksamwhfw There are 36 socks in
total, 5o the aumber of white socks is 25 of 36.
Y40f36=536-3=12

50 %40 3615 2 x 12 = 24 socks

26. D

n is the number of the term. Test each formula by
substituting different values forn.
E.gforoptionD:n - (n + 1):

Whennis 1: 1-(1+1)=1-2=-1,
Whennis2:2-(2+1)=2-3=-1.
Whennis3:3~(3+1)=3-4=-1.

Son - (n + 1) is the correct formula.

27. C

For Julle to have shared the carrots equally, whilst
having none left over and not. having to divide arny,
the number of rabbits must be a factor of the
number of carrots, 70.

The only factor of 7015 5 (70 « 5 = 14).

28. D

Four squares north takes Adam to (-1, 2). Two
squares east takes himto (1, 2),

29. D

3{p + 6t) means:

pP+Ot+p+6t +p+6t=3p+ 18t

30. 68%

To find a percentage you need to write an equivalent
fraction over 100.

79’50 people had a blue car and when you multiply
the numerator and denominator in 79’50 by 2 you
96t9% 0= 32%.

The percentage of people who didn't have a blue car
is 100% -32% = 68%

Section B
Pages 56-58

i. C

Add the prices of the sets of three board games
together. You need to find the option that adds up
to £30.00 - £0.50 = £2950.

This is easiest If you split: the numbers and add the
pounds and pence separately.

Blocks + Clucless + Trivia Time
=£1250+£650+£1050
=£12+£6+L£10+ £050+£050+£0.50
=£28+£1.50=£29.50

2. £9.50

Two copies of Brainium cost £950x2 =£19
Three copies of Trivia Time cost
£1050x3=£31.50

Together they cost £19 + £31.50 = £50.50.
Jill pald with 3 x £20 = £60. The change she
received was £60 - £5050 = £8.50

M6QDE1T

3. 50cm?

The area of each square 5 length x width
=4X4'—' 76W

Theareaof 5 asquare=16-2=8cn.
1 whole square + 3 halves
=16+8+8+8=40cn’

She uses 2 half circles so 1 circle in total,
The total area of the circleis 10 e,

S, the total areais 40 + 10=50¢n?

4, 4m

The area of each tile is 0.04 n and Moses uses
100 tiles to cover the floor, so the total area of
the bathroom is 100 x 0.04 = 4 n.

The area of the bathroom is calculated using
length x width, so area + width = length:

4+ 1=4m

5. 11:9

White tiles occupy 55% of the floor while black tiles
cover45%. Written as aratio thisls 55:45.

The highest common factor of 55 and 45 is 5,
Dividing both sides by 5 gives the ration its
simplest form, 11:9.

6. 1.8m?

The total area of the bathroom is 4 m?

10% of the overall areais 4 + 10 = 0.4 m?
and 5% of the overall area is 0.4 = 2 = 0.2 m®
Therefore 45% of the total areais
(04x4)+02=16+02=18m°

7. 120°

Each angle in an equilateral triangle is 60°,

The shaded angle is made up of the angles from two
equilateral triangles so it is 60° + 60°= 120°

8. 12

In total, the girls have H + (H + 2) + 2H handbags.
Ifthey have 26 handbags altogether, this can be
writtenas: 26=H + (H + 2) + 2H.

This is simplified to: 26 =4H + 2.
Subtract 2 from both sides: 24 = 4H
SoH=24+4,5H=6.

Louise has 2H handbags.

2 x6 =12 handbags.

9. C

Amy has H + 2 handbags.

Georgina has 3 times this,
(H+2)+(H+2)+(H+2)=3H+6

10. 91

£2.73 is made up evenly of 2p and 1p coins,
Tpout of every 3pis a 1p coin, so % of the money
Is made up from 1p coins,

£2.7315273pand Y of 27315275~ 5= 91,
S0, 91 coins are 1p coins,

11. 30
Girls Boys Total
Goals 4
Saves| 14 =(20-4)=16 |= (16 + 14) = 30
Towsl | 24 |-(4-20-20] s

The table shows how to find the total number of
saves. Start by working out the boys' total goals
and saves (20). Then use this to find the number of
the boys'saves (16). Add this to the girls'saves to
find the total number of saves (30).

12. 5000

The length of each matchbox is 5 cm, This will fit
along one slde of the box 50 x 5 = 10 times.
The width of each matchboxis 2 cm. This will it
along one side of the box 50 x 2 = 25 times.
So one layer of matchboxes = 10 x 25

=250 matchboxes.

The keight of each matchbox is 1 cm, s0 the
boxis bigh enough to fit 20 = 1 = 20 layers

of matchboxes init. So the total number of
matchboxes = 20 x 250 = 5000

16

B %0;\&%

Zz N
13. 125000 Zogp.
In question 12, it Was calcyl.
. ated ¢
5000 matchboxes in the Packing [f: ’
If there are 25 matches in eacp ma X‘
tches in the " her
Youcan calculate this by ﬁnd;,,gp;;king boxin ota)
25x 1000 = 25 opp 25000x5:?§0' 3
14. £16 2000

The cost of tickets for 2 a

£350+£350+ £150 ?15;: -2,56’7]’%" e
A family ticket is 20% cheapgr. =10
10%0f£10is £1 sp 20%is£2,

So a family ticket is £ 10-£2=¢8

Rajis buying two family tickets oo the
totalcostis £8x 2 = £16

15. 5

The number of sausage rolls eate ;
24.x 3= 72 and the number eat::i; :::Zf’y" s
7x5=35. Sothe total number of says, ult's ©
eatenis 72+ 35= 107 ke
The sausage rolls come in packets of 25,
4x 25 = 100 s0 Sherrie wil feed to by
5 packets to have 107 sausage rolis,

16. 4

There are 7 adults who eat ¥y of 2 cake ach,
7x Yy=1cake

There are 24 children who eat Vg of 2 cake each
24x Vp=24+8=3cakes '
Intotal Sherrie needs 1+ 3 = 4 cakes

17. 10 years

The plant needs to grow O.5m (2 - 1.5 = 05).
It grows 0.025 m in 6 months,

There are 12 months ina year so it will grow
0025 x 2=0.05min ayear.
05m+005m=10,s0itl take the plant 10
years togrowO.5m,

18. 9m

The vertical sides of the shape measure
1+6+7="14m. So the total of the horizontal
sides of the shape is 32 - 14 = 18m,

The bottom horizontal line is equal to the 2 top
sides added together so the bottom horizontal line
is half of the remaining perimeter:

The length of X (the bottom)is 18 « 2= 9m.

19. 58 m?
Area of a rectangle = width x height.
The house can be split up into two rectangles.

©
Chere Wen /Oo

The bottom rectangle has an area of 6 x 9 = 54 m*
The upper rectangle has an area of 4 x 1= 4 m?
The total areais 54 + 4 = 58 m?

20. 25%
The total amount of paint used by Harry is
3+4+5=12litres.

3 litres of this was red paint, so the fraction of
red paint usedis %5, %5 is simplified to ¥ by
dividing the numerator and denominator by 3, and
Y4=25%(25%x4=100%).

21. A

The diagram shows the flag when it has been
refiected in the y-axis,

The coordinates of point P are now (-3, 3).

M|

EENENEN A
(A
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A

e p———

'W?WW”W has 5 sides that are all

fre

BN s 2x-y+2x-y+2X-y
5(2:-Y)=2‘ 4 +2x-y = 10x -5y

25-;;':%,,,5.,3%; =10andy =2 into
You

ion from question 24.
_5)(2: 100 - 10=90m

Jy, substitute the values ofx andy into
sion for one side of the pen
2x10-2= 20-2=16m ‘
mm55ue5tothepensothetotalpenmeter
518x5=90m

26. 33

ansomefarsvery3sheep.

YwmwmouthowmanylatsoMOm’thm
in555 m".

;;;;nfw= 11 remainder 5. For every 50 m? Brian

canhave 3 sheep. Since there are only 11 full lots

o#50me Briancan fit 11 x 3= 33 sheep in the

pen. Thereis a remainder of 5 m? which is not big

enough forone sheep.

27. 136°

Akiteis aquadrilateral so the angles in a kite add

1p 360", This means that the angle missing in the

kitels 360"~ 130°- 130° - 56° = 44°

Angles on a straight line add up to 180", so anglea

5180°-44°= 136°

28. C

Round up 49p to 50p and 2 9p to 30p to make the
calculations easier. Carrie bought 4 chocolate bars
50 the approximate price of these is 4 x 50p = £2.
She bought 7 bags of peanuts so the approximate
priceof theseis 7 x 30p = £2.10.
£2+£2.10=£4.10. You rounded each item up by
Tpandthere were 11 items in total (4 + 7= 11) s0
subtract 11p to find the exact total cost:
E4.10-11p=£5,99

29. 8 hours

Start by making sure everything is in the same

Units — there were 2 litres of water, 50 change this
Yomiliitres by multiplying by 1000: 2 x 1000 =
2000mi. There are 5 holes each losing 50 ml each
hour, 50 the amount of water being lost each hour is
9x50=250m. Divide the total volume of water
(2000) by the amount being lost each hour (250)

Yo find the number of hours it I take to empty:
2000 = 250:5}10”[5 i

30. 120 minutes

ffmho!el_sstoppmdthenonwxsodoom:
water will be lost per hour:
"00+200 = 10 hoyrs,
25;70*5=2h0ur5morethanwhmaﬂ§holes
g water: 2 hours is 60 x 2 = 120 minutes.

the
10x 10

Mé6QDE1

Assessment Test 3

Section A
Pages 59-61

1. 6.5cm?

The area of a whole Squareis 1o, so the area of
half a squareis 0.5 cn?. There are 5 whole squares
withan area of 5 x 1 cni = Sent, and 3 half
Squares with an area of 3 x 0.5 cm? = 1.5¢m?, s0
the totalareais 5+ 1.5 = 6.5 ony .

2, C

Litres is not a unit of length. Centimetres and
millimetres are too small, Kilometres are too big.
Sometres is the most suitaple unit,

3. 7

Eachrectangle represents 4 vehicles, 50 Y% of a
rectangle represents 1 vehicle,

There are 1% rectangles for the buses,

This is equivalent to 4 buses for the whole rectangle
and 3 buses for the % rectangle,

3 +4 =7 buses

4. 6

The children with a skateboard and 2 scooter are
shown in the overlap of the skateboard and scooter
circles. The 1 child in the middle section also has a
bike, s0 you don't want to count that ore.

Bike,~ > ™\ Skateboard
f 1/ 2\ 5

5.
E (a trapezium) is the only shape with one pairof
parallel sides (the top and bottom). A and B have
more than one pair of parallel sides.

Cand D have no parallel stdes.

6. A

In the 24 hour clock, if the number of hours is
greater than 12, the time is pm.

To convert from the 24-hour clock to the
12-hour clock subtract 12 from the hours,
inthiscase, 13. 13-12=1.

So the answer is 1:45 pm.

7. D
There are eight lines of symmetry:

8. 113

Add up the number of boys and girls in each year:
Year2: 49+50=99

Year3: ~ 52+56=108

Year4: 55+57=112

Year5: 54+59=113

Year6: 35+54=89

Year 5 s the biggest year group and has 11 3
children.

9. 7.2

0,08 is 1000 times smaller than 80, 50 90 x 0.08
will be 1000 times smaller than 90 x &0.
90 x 80 =7200.50 90 x 006

= 7200+ 1000=7.2

10. B

400 g i the only sensible answer. 4 kg and40kg
are toobig. 4gand0.4gare too small.

17

1. ¢ %”% «&%

Total up the 3 items Maddy chose and subtract the @Qfl‘j i
total from £5,00, R

40p+25p+ 99p = £1.64 (to add on 99p, add on
£1 and subtract 1p).

£500-£164 =£3.36
12. B

Convert all the fractions to twentieths so they're
easier to put in order:

3/4 = 15/20 (Multiply the numerator and
denominator by 5)

;/f; ;/20 (Multiply the numerator and denominator

The other three fractions are already in twentieths,
In order from smallest to largest, the fractions are:
%0 %0 %0 %0 %0

Convert the fractions back to their original form to
ave: %0. 1%, %0 %0.%

13. 12

From the chart, you can see that 70% of children in
the computer club are boys.

There are 30 children in the club, so find 70% of 30,
10%0of30=30+10=3

50 70%=7x10%=7x3=21,

There must be 30 - 21 = 9 girls.

Sothere are 21 - 9 = 12 more boys than girls.

14. C

The fastest time is the smallest number. Cara was
fastest with 3 mins 59 secs. All the other times
are over 4 minutes so compare the seconds.

lan came second with a time of 4 mins 2 secs.

15. 11

To find the answer you need to work backwards from
112. You're told that 9 was subtracted from a
number tomake 112 — s02dd 9to 112:
112+9=121. Toreach 121 the original number
was multiplied by 11. So you need to divide 121 by
11 to find the original number: 121+ 11=11

16. D
The square numbers on a six-sided dice are 1 and 4.
This is 2 out of the 6 numbers, so the fraction is

%%
17. E

The map below shows Jenny's movements.
Remember — 90°is aright angle, so 135°is one
and a half right angles (90° + 45°).

135" anticlockwise ||

1% hours = 1 hour 45 mins.

Count on 1 hour and 45 mins from 4:20 pm.

One hour later than 4:20 pmis 5:20 pm,

40 minutes later than 5:20 pmis 6:00 pm,

5 minutes later than 6:00 pm is 6:05 pm.
Alternatively, 1% hours is 15 minutes less than
2 hours. S0 you could add on 2 hours and ther
subtract 15 minutes.

19. 2km

Sarahrunson 7 x 12 = 84 days
Each day she runs 168 + &4 = 2 km.

20. C

You need to imagine spinning the shape mur;d to
different positions. This question i easier It you
rotate thzopsage s0 that the cube with the heart is
at the top each time.
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21. 20 cm

30. (8,2 9. 45kg 2, ‘f%éf
The penmeter of a rectangle is made upof 2lengths | The fourth corner is directly below the point (8.10) | 7.5 kg of rabbit flakes ape used wh Q’)}\p
and 2 widths. In this rectangle, 501t will have the same x-coordinate (8). to5parts. Soone partis 75.. o ich Co"fsponds o,
length = width + 20 cm, so the perimetar s Itis directly to the right of the point (4. 2) so it will g

2 widths + 2 widths + 20 cm +20¢cm

=4 widths + 40 cm

The perimeter is 120 cm, 50 4 widths is
120¢cm-40cm =80¢m

S0 1 widthis 80cm -4 = 20 ¢cm

22. 2.25°C

The highest temperature was 38 25 °C on
Saturdzy. The lowest temperature was 36 °C on
Monday and Wednesday.

So the difference = 38.25 - 36 = 2.25 °C

23. E

Count up from -5 in steps of 1.5 until you land on
one of the answer choices.
=5.-3.5,-2,-05,1,2.5, 4 (whichis E).

24. B

The pattern is made by repeating a set of three
3% & =18, s0 there will be 6 full sets of the shapes,
plus another two that make up the first 20 shapes,
The heart is the 1st shape in the pattern, so shape
19 will be a heart.

Sotherewill be 6+ 1= 7 hearts

25. 597 miles

If Sue can travel 2985 miles on 5 tanks, she can

travel 2985 - Smileson 1 tank: 0597
512

26. 31

You could do this question by predicting what the

1 1th shape will look like and counting the squares.

Shape 11 will have a vertical strip of 11 squares,

and the horizontal strips sticking out the sides

will be 10 squares long each. The total number of

squareswillbe 11+ 10+ 10=31

Altemnatively, you could say that the number of

squares increases by 3 each time. There are 10

squares in Shape 4, and Shape 11 is 7 shapes

further on.

S0 Shape 11 willhave 7 x 3 = 21 more squares

than Shape 4.

This means it has 10+ 21 = 31 in total.

27. 11

1.75 pints = 1 litre, s0 & litres = 6 x 1.75 pints.
Split the calculation up to make it easler.
2litres =2 x 1.75=3.5pints

G litres = 3 x 2 litres, so:

Glitres = 3x 35 =105 pints

So youd need 11 bottles.

28. B

Consider whether each statement Is true:

A: There are 4 even numbers and only 2 odd, so this
ish't true.

B: 4 numbers out of 6 are even, which simplifies to 2
numbers out of 3, The statement is true.

C: The ratio of odd to even is 2 : 4 which simplifies
to 1:2. S0 the statement isn't true.

D: 4 out of G sections are even which Is 4/6= %3
This isn't equal to 75% so the statement isn't true.
E: Only 2 of the 6 sections are prime numbers (2
and 5) so this statement isn't true.

29. D
First find what fraction of the bottle she has used

1
by simplifying: %00 =200 = "
Then find what fraction of the bottle of shampoo is
lef: 1- % =%

MEQDE1

have the samey-coordinate (2).
So the coordinates of the missing corner are (8, 2).
3,

Section B
Pages 62-64

i. D
The refiected point is the same distance away from
the mirror line on both sides.

v

1234
N

\\>(2. -2)

2. C

The mean is 5 so the total age of all the bables is
5 x6=30. The four ages that are given add up to
6+ 3+8+ 2 =19, 50 the other two ages must
addup to 30 - 19 = 11. This means that the
correct answer must be C (3 and 8).

3. B

The whole pie chart represents 20 days.

If 20 days = 360", then 1 day = 360°+ 20 = 18°
5 foggy days will be represented by an angle of

3x 18°=54°

4. 6

From question 3, one day is represented by 18°,
Therefore 108° corresponds to 108 + 18 = 6 days
(as 54 + 18 = 3 and 108 is double 54),

5. 26

Acube has 6 faces, 12 edges and 8 vertices
(corners). 6+ 12 +8=26.

{fyou don't know these, you could count them on the
diagram in the question.

6. 6cm

This can be done using trial and error: To calculate
the length of one edge, the cube root of 216 needs
to be found:

4x4x4=64

5x5x5=125

6x6x6=216

7. £50

Substitute 300 for m in the formula and find C.
Remember to follow BODMAS.
C=15(300+100)+5

C=15(3)+5

C=45+5

C=50

The cost of printing 300 leaflets is £50.

8. B

There are 1000 mlin 1 litre, soin 10 litres, there
are 10000 ml,

% ofalitre= % x1000mi=(1000x2) +5
=2000+5=400m|

So the amount left in the bucket = 10 000 - 400
=9600 m|

18

Thgmneedstobeﬁpartsofhay s0 %
1,5x5=4.5kgisneeded ‘

10. 315 kg

There are 1 +3+5=9pa
vegetables only make up 1 part of it
There are 3.5 kg of vegetables in thé mix
total weightis 3.5 x 9, Split this up inroand
3x9=27and05 x9=4.5andaddthg
wggthgr;27+4.5=37‘5kg "

11. 95

The number of children can be fou
the correct bar (the darker
the values on the y-axis,
On Monday 30 children used the fe
On Tuesday 40 children used the
On Wednesday 25 children useq ti
In totalon the first three days;
30+40+25= 95chiunenusedthefeny

12. 70

Add up the total number of children why usedthe
ferry: 30 + 40 + 25 + 15+55+35+35=235
Add up the total number of adults who used the
forry: 15+ 25+ 10+ 30+ 10+ 35 4 40« 165
Then find the difference: 235 - 165 = 70.

13. D

On Thursday 30 adults and 15 children used the
ferry. 15 is half of 30.

14. 25

Wednesday had the fewest passengers (35) and
25 of them were children.

15. 210

The calcutation is easier if you notice that
11+12+13+ 14+ 15+ 16+ 17+ 18+ 19+
20isthesameas(1+2+3+4+5+6+7+8+
9+ 10) +(10x 10). Youare toldin the question
that the sum of the numbers from 1 to 10is 55.
So the total = 55 + 55 + 100=210

16. 8

The prime numbers between 1 and 20 are:
2,35711,13,17and 19,

17. B

The minute hand will go round 10.5 times between
12 noon and 10:30 pm. It travels through 360"
each time it goes round. So the total angleit
travels throughis 10.5 x 360", Split this up into
10 x 360°= 3600° and 0.5 x 360° = 180", then
add themup: 3600°+ 180°= 3780°

18. £9.75

Find 30% of £2.50: 10% of £2.50 = £0.25
30%=3x 10%=3x£025=£0.75

Soif he cleans the car one week he gets
£250+£0.75=£3.25

So for 3 weeks he gets £3.25 x 3=£9.75

19. 52 m?

First find the area of the whole garden, then
subtract the area of the flower bed. This gives you
the lawn area.

Garden=8x8 =64

Flowerbed=4x3 =12 m?
Lawn=64-12=52n7

20. 1 hour 5 minutes ‘
In question 19, it- was calculated that the Lwn 15
52m? It takes Tamara 5 minutes to mow 4 ’"“":
lawn. In 52 m? there are 52 - 4 = 13 lots of 4 M
It will take Tamara 5 x 13 = 65 minutes to Mow
the lawn.

This Is equivalent to 1 hour and 5 minutes.

21. B 4
lan has rounded each item up by 1p. There re
Items, so his estimate will be 9p too much.

rts in the m"xand

SOthe

nd by identify;
grey bar) ang re, adinngg off

ferry.
he ferry,
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o is the same as 25 °F from the
-4 °C. The table tells
—it54 ximately ,
t ’;e mmm temperature for a sleeping
cﬁ;mﬁng 3i5-5C. Thisis the lowest rated
bagwi

sleeping bag e 3N 9%

2 rlgnsacaountedforb_ymd Plue and green
5% + 30% + 15% = 70%

52
mnim;rient of yellow marbles in the bag is

1mz_ 701:50%
10%of 60is 60+ 10 =6 marbles.

misaxﬁz 18 marbles

. C —_
322 = 15100 of the marbles are green. Dividing

the numerator and denominator by 5 simplifies this
fraction 10720,

25, 30m side = Vo x base x height
the triangular side = Y2 x base x
At =Wx3x2=3m
Volume = mgfmangularsldexlength

=3x 10=30n"

26. 2016

Find the total number of seats (42 x 48):
48

x 42

1
+1920
3

016
T

27. 14

To calculate the mean, add all numbers together and
divide by the number of classes.
Mean=(16+16+11+17+12+12)+6

=84+ 6= 14 children

28. D

There are seven days in one week. Count on six lots
of seven from 23rd April. There are 30 days in April
and 31 in May.

30th April, 7th May, 14thMay, 21st May,
28th May, 4th Jure.

29. D

1 game costs £39.99, son games will cost himn x
59.99=239.99n

The computer cost £260.

Subtract these amounts from £5600 to find what
he has left over:

500-260-39.99n = 240-39.99n

30. 6

Russell has £240 remaining from his £500 to
spend on games. Each game costs £39.99 which
can be rounded to £40.

£240~ £40 = 6. Therefore, since we rounded
£39.99 up to £40, Russell can afford 6 games.

Assessment Test 4

Section A
Pages 65-68
1. E

Tmillionis 1000 000, s0 7000 000 is seven
million.

2. A

Trees are usually taller than a person’s height. The
other measurements are all much smaller thana
person’s height.

3. D

Ashape with six sides is formed, :
which I a hexagon. ;

M6QDE1

e ————

4. A
-2 Cls the lowest temperature in the table.

5. 1 hour 20 minutes

The programme starts at 6:55 pm and finishes at
&:15pm. Count on 1 hour from 6:55 pm to 7:55
pm. Then counit on 5 minutes from 755 pm to
8:00 pmand a further 15 minutes to 8:15 pm,

The totalis 1 hour + 5 minutes + 15 minutes which
gives 1 hour 20 minutes.

6. 17.5 cm?

The area of a rectangle is length x width. So the
areais 7 x 2.5. Fartition 2.5into 2 and 0.5 and
multiply each number by 7.

7x2=14. 7x05=35,
S07x25=14+35=175cm?

7. E

Only two of the numbers are less than 1: 0.81 and
0.18. 0.18 only has 1 tenth, whereas 0.81 has
Btenths. S0 0.18 is smallest.

8. 8acam

Regular heptagons have seven equal sides, so each
sideis 56+ 7 =8 cm

9. £3919

Subtract the price Kate paid from the original price:
£6999 - £3080=£3919

You can do this subtraction using partitioning:
6999 - 3000 -80=3999-80=£3919

10. C

There are 4 gaps on the scale between

2kgand 4kg. Soeachgapisworth 2 + 4 =05 kg.
The arrow is half a space further along than 2 kg on
the scale. Half of 0.5 kg = 0.25 kg.

So the kitten weighs 2 kg + 0.25 kg =2.25 kg

11. B

Joe ate an equal amount of three loaves over seven
days, so he ate % of a loaf each day.

12. E

The dogs sector of the pie chart is slightly bigger
than a quarter of the chart.

Calculate a quarter of the 32 pets: 32 + 4 =8
9is one more than 8, The other choices are too big
or too small to be reasonable estimates.

13. B

Yis greater than 5, s0 39 rounds up to 40.
3is less than 5, s0 43 rounds down to 40.
40x40= 1600

14. 8:30 am

The latest bus arriving at Rippen before 8:40 am
is the one that gets there at 8:35 am. This bus
leaves Kneesall (where Lucas lives) at 8:30 am.

15. 144

Each piece is 7(3 m, s0 each metre of ribbon will make
3 pieces. Gus has 48 m of ribbon, so the total
number of pieces = 3 x 48

You can calculate this by partitioning 48:
(Bx40)+(3x8) =120+ 24 =144

16. B
Triangular-based pyramids have 4 triangular faces,

4 vertices and 6 edges. \
17. E

403 Is half of 806. S0 30 x 403 must be equal to
half of 30 x 806. As 30 x 806 =24 180,
30 x 403 must be 24 180 + 2 =12 090

18. D

The angle is more than a right angle. It is about
halfway between a right angle and a straight line
—135°1s the only sensible estimate.

19. A

The horizontal line on the graph shows no distance
was travelled between 09.00 and 10:30, which is
1 Y hours. (Read the times off the horizontal
axls,} This was when they were having a break.

19

20. 10 %f%
12x 10= 120,50 12% 20 = 240 2, @‘
250 -240=10. 10s less than 12, 0 no more & N
bags canbe filled. So 10 biscuits are left over oy
21. 64 cm

The shape Mark draws is 2 rectangle. The rectangle

is the same length as seven cubes (7x4=28cm).

The rectangle is as wide as one cube (4cm).

o the perimeteric 26+ 26 + 4 + 4 = 64 ¢m

22. C

There are 15 sweets altogether {5+ 10) and 5 of

them are cherry. So % 5 of the sweets are

cherry which simplifies to V. (You simpliify

fractions by dividing the numerator and

denominator by the same number — in this case 5. )

23. 15

The day with the most symbols on the pictogramis
Monday wit 5 symbols. Each symbol stands for 3
awards so the class gained 3 x 5 = 15 awards on
that day.

24, A

Find out how marny of the balls would make up 55%,
55% =200 = V40 50 11 of the 20 balls make
up 55%. Then use the diagram to work out how
many of each ball type there are:

Red=4+7=11

Yellow=6+3=9

Striped=3+7=10

Spotted=6+4=10

Red striped =7

So red balls make up 55% of the balls in the bag.
25. A

Faralielograms have two pairs of equal parallel
sides, 50 the completed shape will look like this:
y

26. 8

49 s a square number: 7¢ = 49

Soifx =7, x2=1=48, which is less than 49, so
the statement isn't true. That means the answer
must be & — ifx = 8, x? - 1=63, which is greater
than 49, so the statement is true.

27. C

Substitute one of the n values into each formula in
turn, and see which gives you the correct value.
Eg.ifn=2.

A:3n =3x 2 =6 ——not correct
Bn-3=2-3 =-1-—notcorrect
C:2n-3=2x2-3="1—correct
D:2+n-3=2+2-3=-2 —notcorrect
E:2n+3=2x2+3=7 —notcorrect
Only C gives the correct value, 5o must be the
expression,

28. 42 cm?

The net folds up to form a cuboid:

2 m@cﬂl

Volume = Ile;'gh X width x height
=7x3x2=42cm

29. B

60% percent is °%,00 = Y10 = 7

If thepnfceofanitemisreducedby% the new
price willbe 1 - %5 = &4 of .

Soif the amount is n, the sale price will be %(n)-
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30. B
There are 180" in a half turm, 90" ina night angle,
and 45° in half a nght angle.
225°= 180"+ 45°
= 2 half turn and half a ngl-ﬁ angle:
W: E
sW

S
Section B
Pages 68-70

1. 22.105 litres
Mdunits-5+5+5+5=20
Addwnths=0.5+0.5+05+05=2
AMMMWS=005+0.05-0.1
Add thousandths = 0.005 only
20+2+01 + 0005 =22.105 litres

2. 35

Finid the number of groups by dividing the number of
girls in the class by the number of girts in a group:
15-3=54groups.

The number of childreninagroupis 4 +3=7,

0 the total number of children=5x 7 = 35.
Alternatively, find the number of boys in the clase
by muttiplying the number of boys in a group by the
number of groups: 4 x5 = 20 boys.

15 giris + 20 boys = 35 children in total

3. 200
Workoutthemﬁtthesd:mlmkesoneadvbadga
£1-70p=30p

They made £60 or 6000p in total.

So divide GOOO by 30 to find the number of badges
they bought. 8000+ 30 =200

4. 35
Uxﬂ»eoppositeﬁ:mﬁmstom*backﬁvaﬁ
To find the number divided by 7 to get 25, multiply
25by 7:25x 7 = 175. To find the number that is
muitiphed by 5 toget 175, dvide 175 by 5:
175-5=35.

5. B

You can find the answer by rounding the prices of
the sandwiches. The cost of three sandwiches at
£1.49, i just less than £1.50 x 3 = £4.50. The
other sandwich costs £1.99, which rounds to £2.
S0 the total cost is about £4.50 + £2 = £6.50.
You've rounded up by Tp for ach sandwich, so the
actual cost will be 4p less than £6.50, so answer B
(£6.46)is correct.

6. 65p

First take off the cost of the two sausage rolls.
£379=57%

379p-92p=287p

287p-92p=195p

S0 the three jarm doauts cost 195p.

So each jam donut costs 195p = 3=65p

7. D

Convert prices in £ to pence, then divide the price by
the number of cakes.

A 15peach

B 39p-3=13peach

C 100p+ 10=10peach

D 200p-25=8peach

£ 150p-15=10peach

Bpis the lowest price per cike.

8. 194

Fird tie sauare numbers between 46 and 91:
6x6=26—rtoosmall, 7x7=49,8x8=64,9
x8=8110x 10= 100 —too by

49 + 64 » 81 cani be partitioned by adding the
tens and units separacely:
(40.060+80)+(9,4+ 7)= 180+ 14=194

M6QDE1

9. B

The options are all very different. so try estimating
to find the answer The base of each triangle is
about 5 m. and the height of each triangle is 4 m.
Area=Y% x base xheight =% x5x4=25x4

= 10n¥. The areaof each triangle is about 10 ',
s0 the area of the patiois about 2 x 10=20nt.
The only answer that is possible is 19.2 nr.

10. 41

The frequency just shows how many times each
number has been thrown. Read off the frequency of
each rumber and add them up to find out how many
times the dice was thrown altogether:
6+7+8+5+9+6=41

11. B

The dog eats 245 g each meal, and she has 3x7=
21 meals aweek. So inone week, she eats

2459 x 2. The answers are all very different, so
try estimating to find the answer.

Round 245 g up to 250 4. and 21 down to 20.
250x 20=50009=5kg.

The only answer close to 5 kg is 5.145 kg.

12. C

Ezch meal is 245 g — round this up to 250 g.

Try multiplying this by each of the possible answers.
3x250=750g,4x250=1000 g

5x250= 1250 g, 10x 250 =25004,

12 x 250 = 3000 4. Sothe answer is 5.

13. £280

First work out how many hours a day the café is
open for in the summer and in the winter.

Mar - Sep (summer): 9 am to 6 pm = 9 hours.

Oct: - Feb (winter): 11 am to 4 pm =5 hours.

So the caféis open 4 hours (9 - 5) more each day
inthe summer. Soitsopen4 x 7 = 28 hours longer
per week in the summer. It costs £10 per hour to
run the café, soit costs 28 x £10 = £280 more
each week in the summer.

14. 22
Start by working out 1% of 550: 550 « 100=5.5
Multiply this by 4 to get 4%. 56x4=22

15. 225°

All the angles inside a regular polygon are equal.
The angles around a poirtt add up to 560"

s0 anglex = 360° - 135°= 225"

16. E

4.5 kg of apple is needed for 2 kg of sugar.
So for 1 kg of sugar, you need 4.5kg + 2
=2.25kqg apples.

10kg of sugar needs 10x 2.25 kg
=22.5 kg of apples

Go for 9 kg of sugar you need
225-225=225-2-025

=205 -0.25=2025kgof apples

This is option E.

17. 3.75kg

First find the mass of each type of fruit:
Oranges: 600g x 1=6009

Bananas: 4509 x2=900g

Apples: 5004 x 3=15004

Fears: 750gx 1=750¢g

Add up all the masses:

000g+9004 + 15009+ 7504

= 150049 + 15009+ 75049
=3000g+7509=3750g

Convert the grams to kilograms:
1000g=1kg,503750g =375k
18. 1125¢g

He buys two bags of bananas, so in total his
bananas weigh 450 g+ 4509 = 900 4.
To find the mean mass of a banana,
dide thisby 8: 93009 -~8=1125¢g

20

“,

19. D %

Count the number of smajj triangles in each p J’/b
and see how they relate to the pattern n,m,idt,L Q”}S‘
Fattern 1= 1 triangle v %
Fattern 2 = 4 triangles .
Fattern 3 = 9 triangles

Fattern 4 = 16 triangies

Fattern 5 = 25 triangies

These are all square numbers. f the pattern numpe
I n, then the number of triangles is n*. '

20. 1:01 pm

You can work out how lonig in hours 136 minute:

is. There are 6O minutes in an hour so intwo hos
thereare 60 x 2 = 120 minutes. 136 - 120 _U"f
80 136 minutes is 2 hours and 16 minutes, "%
2 hours after 10:45 pmis 12:45 pm and '

16 minutes after thisis 1:.01 pm,

21. 1100 ml

First work out how many ml of milk Katie drinks each
day: 350 mil twice adayis 350 x 2 = 700 m|,

Now find out how much milk she drinks 2 week.

700 x 7 =4900 ml. She starts with 6 litres of
milk, which is 000 ml. So at the end of the week
she has G000 - 4900 = 1100 m left. '

22. 45 cm’

There are 15 bricks in the model and each brick has
avolume of 3 cm? so the total volume is
3x15=45cnt

23. C

6 out of the 15 bricks aren’t touching the table.
As a fraction this is 6/75
6+3=2and15+3=5,50 45 = 24

24. 114 minutes

Replace the w in the formula with 2.2.
20x2.2=44. 44+ 70 =114, s0 Jack needs to
cook his turkey for 114 minutes.

25. 47 minutes

The mean is the total of all the values divided by 5.
You can do the opposite of this calculation to find
the total of all the values: total of all the values
=themeanx5=42x5=2170. The total of the
values sofaris 31+ 36 + 44 + 52 = 163,

So the missing value must be 210 - 163 =47

26. £1.10

To calculate the mean, add up the amounts and
divide by the number of months (6):
£1.20+£080+£1.50+£1.10+£1.50 +
£0.50 = £6.60 (Remember to convert 80p to
£0.80 and 50p to £0.50.)

Now divide the total by 6: £6.60 + 6=£1.10

27. £23.96

The area of the soilis & x 6 = 48 mP.

One tub of seed covers 12 n¥, 5046+ 12
=4 tubs are needed.

This costs £5.99 x 4 = (£6.00 x 4) - 4p
=£24.00 - 4p=£23.96

28. 14¢g

204 is two thirds of 30g. If there are 21gof
carbohydrate in 30 g of cereal, there will be two
thirds of 21 gin 20 g of cereal.
Onethirdof219=21+3=74

Two thirds of 21g=7x2= 144

29. 758
1 serving of the breakfast cereal has 0.8 g of fivre,

50 2 servings has 0.8 x2=1.64. You still need
0.4 g offibre toget upto 24, 50 you need another
half a serving. Altogether you need 2 and a half
servings: 25x 30=759

30. D

You can work out 1% by doing 30 + 100=034.
Then divide the amount of fat (1 5g)by034

to find the percentage of fat: 1.59 « 034=5%
(35 15 + 3 = 5 and both numbers are tén times

smaller), so the answer is D
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